istn. gaz. 250 Ro=87,78

proj. kabel energ. NN Ro=88,27

istn. kabel teletech. Ro=88,25
istn. kabel energ. NN Ro=88,28

istn. kan. san. 2160 Rd=87,46

istn. kan. san. 2315 Rd=85,82

istn. wod. @32 Ro=87,57

istn. kan. san. 2160 Rd=87,12

istn. kabel teletech. Ro=88,34

istn. gaz. @25 Ro=87,95

istn. kabel teletech. Ro=88,35

istn. wod. @32 Ro=87,55

istn. wod. @32 Ro=87,52

istn. kabel teletech. Ro=88,23

do przet. kan. san. 2160 Rd=86,88

do przet. wod. @32 Ro=87,49

istn. kabel energ. NN Ro=88,25

istn. gaz. @25 Ro=87,85
istn. gaz. @25 Ro=87,86

do przet. kan. san. 2160 Rd=87,31

do przet. wod. @32 Ro=87,53

istn. kan. san. 2200 Rd=86,58

istn. gaz. @63 Ro=87,91

istn. kabel teletech. Ro=88,31

istn. kabel energ. NN Ro=88,35

do przet. kan. san. 2160 Rd=87,11

istn. kan. san. 2160 Rd=87,06

istn. gaz. @25 Ro=88,17

istn. kabel teletech. Ro=88,47

istn. kan. san. 2160 Rd=87,16

istn. kan. san. 2160 Rd=87,18

istn. kabel teletech. Ro=88,44

do przet. gaz. @25 Ro=88,01

istn. kabel teletech. Ro=88.41
istn. kabel teletech. Ro=88,41

istn. kabel energ. NN Ro=88,43

do przet. wod. @25 Ro=87,69

istn. kan. san. 2250 Rd=87,34

istn. kan. san. 2160 Rd=87,34

istn. wod. @250 Ro=87,65

istn. kabel energ. NN Ro=88,49

istn. gaz. @25 Ro=88,48

istn. kabel teletech. Ro=88,68

istn. gaz. @25 Ro=88,92

istn. kan. san. 2160 Rd=88,84

istn. gaz. @25 Ro0=90,28

do przet. wod. @32 Ro=90,28

istn. kabel energ. NN Ro=91,56

istn. kan. san. 2160 Rd=90,09

istn. kabel teletech. Ro=92,30

do przet. wod. 240 Ro=91,68

istn. kabel energ. NN Ro=92,80

istn. kabel teletech. Ro=93,33

istn. gaz. 832 Ro=93,27

istn

.gaz. @32 Ro=93,52

istn.

kabel energ. NN Ro=93,96

istn

. kabel teletech. Ro=93,98

istn.

kan. san. 150 Rd=91,77

kabel energ. NN R0=94,12

\l\ proj.
do przet. wod. 825 Ro0=93,44

JListn.

kabel teletech. Ro=94,09
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